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QUESTION 1

Which method is used to solve for coefficients b0, b1, .., bn in your linear regression model : Y = b0 +
b1x1+b2x2+....+bnxn

A. Ordinary Least squares
B. Apriori Algorithm

C. Ridge and Lasso

D. Integer programming

Correct Answer: D

QUESTION 2
Refer to the exhibit.
What provides the decision tree for predicting whether or not someone is a good or bad credit risk. What

would be the assigned probability, p(good), of a single male with no known savings?

Example: The Credit Prediction Problem

pigood)=0.7

savings=<100, (100:500
= ‘ ) savings=({500:1000),

==1000 no known savings

i good
: M5 [294
housing=free rent plgood=0.83
housing=owr
good
. 348/501
personal=female male divisep pleoodi=.7

personal=male marwid male single

bad
16/88

pigoodl=0.43

A. 0.83
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B.0

C. 0.498
D. 0.6

Correct Answer: A

QUESTION 3

Refer to the exhibit Consider the training data set shown in the exhibit. What are the classification (Y = 0 or 1) and the
probability of the classification for the tuple X(1, 0, 0) using Naive Bayesian classifier?

X

WY

X2 X3

O LR O 0O R, K
B O O R
= = O 0 0O K
R = P, O O O =<

A. Classification Y = 0,Probability = 4/54
B. Classification Y = 1,Probability = 4/54
C. Classification Y = 0,Probability = 1/54
D. Classification Y = 1,Probability = 1/54

Correct Answer: A
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QUESTION 4

Assume that you have a data frame in R. Which function would you use to display descriptive statistics about this
variable?

A. summary
B. str

C. attributes
D. levels

Correct Answer: A

QUESTION 5

On analyzing your time series data you suspect that the data represented as y1, y2, y3, ..., yn-1, yn may have a trend
component that is quadratic in nature. Which pattern of data will indicate that the trend in the time series data is
quadratic in nature?

A. (y3-y2) 2(y2-y1) = ......... = (yn-yn-1)-(yn-1-yn-2)

B. (y2-y1) = (y3-y2) = ....... = (yn-yn-1)

C. ((y2-y1) lyl) * 100% = .......((yn-yn-1)/yn-1) * 100%
D. (y4-y2) 2(y3-y1) = ......... = (yn-yn-2)-(yn-1-yn-3)

Correct Answer: A
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